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BFAD/D-21 23707

APPLIED MATHEMATICS
Paper—BFAD-203

Time : Three Hours] [Maximum Marks : 120

Note : Attempt five questions in all. Question No. 1 is compulsory.

Remaining four questions are to be attempted selecting two

questions from each unit.
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Compulsory Question
(afrard ue)
1. (1) Find the length of the segment joining the points
P(-1,—4) and Q(3, 5). 4)

(i) Find the median for the series 10, 12, &, 9, 70, 60,
40, 80. “4)
(ii)) What is the difference between equally likely and mutually
exclusive events? 4)
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(iv) What is the probability of getting a king in a draw from

a pack of cards? 4)
(v) Write properties of regression coefficient. 4)
(vi) Define partial correlation. 4)

() fagaii P(-1,—4) @& O3, 5) T WIed AW WEUE
Tl A J I |

(i) gvft 10, 12, 8, 9, 70, 60, 40, 80 & faw =fer=rt T
RIS |

(i) T9 T qAT WER AU AT & T F
HW 72

(iv) @91 % T H 9 SICYE HT UM U A ki @A
EURET

(v) i ek % o fafen

(vi) ST Fg-Twry @l IRYIMYG it |

UNIT-I

(FHTE-1)

2. (1) Write down merits and demerits of Median. (8)

(i) Calculate Median and Mode of the data given below.

Using them find arithmetic mean. (8)
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Marks 10120 [ 30 | 40 | 50 | 60

No. of students 8123 145165175 |80

(i) Solve the following linear programming problem
graphically :
Minimise Z = 200x + 500y
Subject to the constraints x + 2y > 10
3x+4y <24, x>0,y 2>0.
®)
(i) AIfeAeRT o O TS I fafEu

o o e >

(i) Ffafaa siwei =1 Afeeht o1 sgas i oM

(aWa

h[ISTU | Sqchl UM Oh{a TV HHX HIEY {1 eIl |

EED 10 120 | 30|40 |50 |60
forenfefal =t g=m| 8 |23 [ 45] 65|75 |80

(i) Fr=fafea aw Tme g@en & TwE ®9 § gd
HIST
frafafea e@lel & = Z = 200x + 500y 0

A

JATHRTT HIST

x+2y2>10

3x+4y <24, x>0,y >0.
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3. One bag A contains 10 white and 3 black balls. Another bag
B contains 3 white and 5 black balls. Two balls are transferred
from bag A and put into the bag B and a ball is drawn from
the bag B. Find the probability that the ball drawn is a white
ball. (24)
TH I A H 10 T q1 3 Hielt 1S €1 g s B H 3
g qA1 5 el A E1 I A H q AR Frereme 9
B H T@ & Wt € iR d9 B H ¥ ww g fw
St | WifIehdr 1 it fo fAeRe TR T e B

4. (i) Write short notes on the following :
(a) Histogram. 4)
(b) Frequency polygon. 4)
(c) Frequency curve. 4)
(d) Cumulative frequency curve or ogive. 4)

(i) Advantage and disadvantage of graphic presentation. (8)
(i) Frfefad @ i feool foafey

(%) 3mFq feomi

(@) SR 984 |

(77) STTEAT &5 |

(%) Sl SR ok AT SASEe |
(i) TTEE TR % ey qen B |

23707/000/KD/987 4



A dietician wishes to mix together two kinds of food X and Y
in such a way that the mixture contains at least 10 units of
vitamin A, 12 units of vitamin B and 8 units of vitamin C. The

vitamin contents of one kg food is given below :

Food Vitamin A | Vitamin B | Vitamin C
X 1 2 3
Y 2 2 1

One kg of food X costs Rs. 16 and one kg of food Y costs
Rs. 20. Find the least cost of the mixture which will produce

the required diet. (24)

THh SHEINEA T TR & @ qeief X q°1 Y i =9

yR fafga w0 we@ § f& fago § <A 10 3R
faarfmm ©, 12 s foerfaa <Y d9en 8 sohrs foerfom =t =1
T forun @@ yerd o foerfaa &t Aen A9 S W R

g e | foefmm u | faafim it |faeafam =
X 1 2 3
Y 2 2 1

@ qerd X il Sid 16 TUS 9T @ U Y &I SiEd
20 T9F T FifSd SRR TR wW & faw fago s =HaE

HId JA HIT
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UNIT-1I

(ZE-11)

6. What is sampling and sampling methods? Explain the types of
it with examples. (24)

gfd=ree don gfderad o1 fafial s €2 Sl 9fed 39
ThRI T U T |

7.  Write short notes on the following :
(1) Merits and demerits of Census. (8)

(i) Difference between correlation and regression. ®)

(i) Characteristics of Karl Person’s correlation coefficient.
®)
Frefefga T gfaw femoit fafeT .
(i) SFRTUMT % T[0T qe S |
(i) FE-TY A YT & HEF TR |
(iii) 1ot g & FE-FEE U i TR |

8. Obtain the two regression equation for the following data :

X |43 | 44146 (404442 (45 |42 |38 |40]|52(57

Y |29 | 31|19 | 181927 |27 |29 (41 [30]26]10

Also find the value of X when Y = 49 and when Y = 50 hence

or otherwise find ‘r’. (24)
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o [l

frefafad sffwel & fog <1 gfamea e o sife
X |43 |44 |46 |40 |44 |42 |45 |42 |38 (40 |52 |57
Y 129 |31 |19 | 18119127 |27 |29 |41 (30 (2610

WA G, T Y =49 B AR T Y = 50 B A1 X 1 HF 374
TN AT 0 Fd HITST |

Calculate Karl Pearson’s coefficient of correlation between X

(24)

and Y for the following data :
X (1819 (202122 | 2324 [25| 26|27
Y |17 (17 [ 181818 [ 19| 19]20 | 21 |21

frafafed efiwel & fou X iR v & o9 W8-9W=ry &

et fUEE Tolieh &1 TOAT HifWC

X

18

19

20

21

22

23

24

25

26

27

Y

17

17

18

18

18

19

19

20

21

21
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